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Note : The candidates are required to attempt iwo guestions each from Section A & B Section C will be ‘

compulsory

Section A (10 X 2=20 marks)

Attempt any two question. Each questions carries ten marks.

I Explain CVP analysis. Also draw and discuss graphical
presentation of CVP.

II. ~ “A product may be sold at a price below the marginal cost in
special cases”. In the light of the given statement, discuss the utility
of marginal costing in decision making.

IIT.  The competing companies P. Ltd and Q Itd produce and sell the
same type of product in the same market. For the year ended march
2011 their forecasted profit and loss accounts are as follows:

| P. Itd Rs. Q Itd. Rs.
Sales Rs. | Rs.300000 3,00,000
Less: |
Variable cost 1 2,00,000 2,25,000
Fixed cost 1 50000 ' 25600
2300600 2,50,000
Estimated Profit: 50000 . 50000 ;

You are required to calculate:

(a)
(b)

Profit volume ratio, breakeven point and margin of safety of each
business.
State volume at which each business will earn a profit of Rs 30000.

IV.
Show which product is more profitabie from the following data
Product A Cost  Product B Cost
per unit per unit

Matenals 5.00 5.00

Labour A & hrs (@ Rs.0.50 2.00

B 3 hrs (2 Rs.0.50 [.50

Overheads fixed-50% of labour 1.50 (.75

Variable O'H 1.50 1.50

Total cost 11.00 8.75

Selling price 14.00 11.00

Profit 3.00 Lo iy

Total pro*duchtion for the month A = 600 units B = 600 ynits. Maximum
capacity per month is 4,800 hrs.

uonsanb y:



Section-B

(10 X 2=20 marks)

Attempt any two question. Each questions carries ten marks.
V. Discuss important functional budgets prepared by the business.
VI. The following information at 50% capacity is given. Prepare a
flexible budget and forecast the profit or loss at 60% ,70% and

90% capacity.

| Fixed Expenses; | Expenses at 50% capacity
Salaries s 50,000
Rent and taxes Rs.40,000
Depreciation Rs.60,000
Administration expenses Rs.70,000
Variable Expenses:
Materials Rs. 20,000
Labour Rs.25.000
Others Rs.40,000
Semi- Labour Expenses:
Repairs Rs.1,00,000
Indirect labour Rs.1,50,000
Others Rs.90,000

It is estimated that fixed expenses will remain constant all the capacities. Semi
variable expenses change between 45% and 60% capacity, will rise by 10%
hetween 60% and 75% capacity, A further increase of 5% when capacity crosses

75%.
Capacity Sales.(Rs.)
60% Rs.11,00,000
70% Rs.13,00,000
90% Rs.15,00,000

VII.  Explain controllable and uncontrollable variances and non-controllable
variances giving appropriate examples. How this distinction helps
management in controlling cost?

VII. From the following information, compute:

a) Fixed Overhead Variance

b) Expenditure Variance
¢) Volume Variance
d) Capacity Variance

e) Efficiency variance

. Budgeied Actual
Fixed Overhead for | 20.000 20,400
November '

Units of Production in | 10,000 10,400
November l
Standard time for one | 2 hours

unit

Actual Hours worked 20,160 hours




Section C

IX.  Explain briefly any ten parts. Each part carries three marks.
(10 X 3=30 marks)

Contribution

Key Factor

Differential costing

Given Sales Rs. 100,000; Profit Rs.10,000; variable cost 70%

- Find Sales volume to earn a profit of Rs. 40,000

2

D

X co. Ltd has a P/V ratio of 40%. The marginal cost of product A is Rs. 30/~ per unit.
Determine the selling price.
The standard material required for producing 100 units is 120 kgs. A standard price of
0.50 paise per kg is fixed and 2,40,000 units were produced during the period . Actual
materials purchased were 3,00,000 Kgs. at a cost of Rs. 1,65,000
Define and calculate Material Cost Variance.
The standard material required for producing 100 units is 120 kgs. A standard price of
0.50 paise per kg is fixed and 2,40,000 units were produced during the period . Actual
materials purchased were 3,00,000 Kgs. at a cost of Rs. 1,65,000
Define and calculate Material Price Variance
Product X takes 5 qour\ to make ;:i Y :e;;“':‘s 10 hours. In a month of 25 effective
days of 8 hours a day, 1000 units of X and 600 units of Y were produced. The company
employs 50 workers in the production departmem The budgeted hours are 1,02,000 for
Lhe year. Calculate capacity Ratio and briefly explain its utility.

ero Base Budgeting
Perirormance Budgeting
Product X takes 5 hours to make and Y requires 10 hours. In a month of 25 effective
days of 8 hours a day, 1000 units of X and 600 units of Y were produced. The company
employs 50 workers in the production department. The budgeted hours are 1,02,000 for
the year. Calculate efficiency ratio and briefly explain its utility.

Master budget
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